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Enquiry Question:

Big Questions that will help you to answer this enquiry question:

1. What physical processes are involved in changing a river 

landscape?

2. What are the key characteristics of a river profile? How do 

these change downstream?

3. How do erosional processes and geology influence the 

formation of landforms in the upper course of the river?

4. How do processes of erosion and deposition work together to 

create landforms in the middle and lower course of the river?

5. What physical and human factors cause flooding?

6. What are storm hydrographs and how do we draw them?

7. How do people manage the risk of flooding?

8. Applied Case Study: Lower Wye Valley
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Homework

Big Question Task Due Date

2 Revise pages 6-8

4 Revise page 11-13

6 Revise pages 10-11

8
Revise for end of unit 

test

Key terms found in the glossary on pages 4 – 5 will be tested 
throughout the unit



Glossary 
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Glossary 
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BQ1. What physical processes are 
involved in changing a river landscape?
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BQ1. What physical processes are 
involved in changing a river landscape?
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BQ2. What are the key characteristics of 
a river?











9

Rivers Homework 1: Answer the following
Define the term 'urbanisation'

Define the term 'tertiary industry'

Name one key factor has driven the 
increasing rates of urbanisation in 

emerging countries?

Explain the impact of the Enclosures Act 
(2)

State one example of Bristol’s connectivity

Why did Cadbury move from Bristol in 
2011? (2)

Explain the process of mechanical 
weathering

Explain the process of hydraulic action (2)

What is the competence of a river load?

Define the term ‘long profile’

Define the term ‘discharge’

As the river enters the middle course why 
does the channel become wider?

Name the source of the River Creedy

Describe two changes to the River Creedy
as it moves downstream (2)

Why does discharge change with 
distance downstream?

Total out of 19:
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Rivers Homework 1: Check your answers
Define the term 'urbanisation'

The increase in the proportion of people living in 
towns and cities compared to living in the 

countryside

Define the term 'tertiary industry'
Jobs in service industry such as in shops, transport, 

health and education.

Name one key factor has driven the 
increasing rates of urbanisation in 

emerging countries?
Natural increase/rural-urban migration

Explain the impact of the Enclosures 
Act (2)

Stopped villagers using open fields and commons 
they would previously have grown crops on.  

Villagers could not support themselves so were 
forced to move to towns.

State one example of Bristol’s 
connectivity

 18thcentury –involved in the slave triangle

 Railways –Bristol Temple Mead accessing London, 
Scotland etc.

 International airport flying to 112 countries.

 Developed into ICTand electronics –linking via 
TNCs e.g. Orange.

Why did Cadbury move from Bristol in 
2011? (2)

Cadbury closed its manufacturing plant in Keynsham 
because Kraft brought the company. 400 jobs were 

lost as chocolate is now made in Poland and 
transported back to the UK to be sold.

Explain the process of mechanical 
weathering

Water enters cracks and freezes (expands 10%) this 
increases pressure and causes rock fragments to fall 

off.

Explain the process of hydraulic action 
(2)

The pressure of the water being pushed against the 
riverbanks.  It includes the compression of air into 

cracks as the water splashes against the riverbanks.

What is the competence of a river 
load?

The maximum size of load that a river can carry

Define the term ‘long profile’ A slice through the river from source to mouth

Define the term ‘discharge’
Amount of water passing a specific point at a given 

time, measured in cubic metres per second.

As the river enters the middle course 
why does the channel become wider?

Due to the lack of gradient the river starts to erode 
laterally (sideways)

Name the source of the River Creedy Hills to the North of Crediton

Describe two changes to the River 
Creedy as it moves downstream (2)

 River becomes wider and deeper as it gains water 
from tributaries

 River starts to meander as it has more power to 
erode laterally creating the bend

Why does discharge change with 
distance downstream?

Increased discharge due to tributaries confluencing
with the main river.

Total out of 19:
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BQ3. What processes and geology create 
landforms in the upper course?
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BQ4. What processes and geology create 
landforms in the middle and lower course?
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BQ4. What processes and geology create 
landforms in the middle and lower course?
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Rivers Homework 2: Answer the following
When was the Enclosures Act 

implemented?

Name 1 feature of Sao Paulo’s site

Outline 2 impacts of migration on Bristol’s 
population

Name two areas in Bristol that are 
deprived

Name two strategies for improving quality 
of life in Bristol

Outline two characteristics of destructive 
waves

Name two types of coastal transportation

State one reason why sediment is 
deposited at the coast

Name two processes involved in the 
formation of an arch

There are 4 sources of coastal sediment –
Name 2

Why are interlocking spurs found in the 
upper course? (2)

Name the landform created as a 
waterfall retreats upstream

Which part of the meander bend will
have the strongest current?

What feature is found on the inside of a 
meander?

What is the name of the sediment 
deposited onto a floodplain during a river 

flood?

Total out of 23:
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Rivers Homework 2: Check your answers
When was the Enclosures Act 

implemented?
1750 and 1860

Name 1 feature of Sao Paulo’s site
Hilly plateau/ Divided in two by the River 
Anghangabau/ 820m above sea level

Outline 2 impacts of migration on 
Bristol’s population

• 38% increase in population in inner areas
• 30% increase in ages 16-49

• 2.5% increase in Eastern European

Name two areas in Bristol that are 
deprived

Lawrence Hill and Cabot

Name two strategies for improving 

quality of life in Bristol
Recycling/ employment/ transport ie. Walking, car 

share/ grants for insulation

Outline two characteristics of 
destructive waves

 The backwash is much stronger than the swash 
and is therefore able to carry sand and pebbles 

away from the shore.
 They break frequently; there are between 10 and 

15 every minute
 They are high in proportion to their length
 They are generally found on steep beaches

Name two types of coastal 
transportation

Traction/ Saltation/ Suspension/ solution

State one reason why sediment is 
deposited at the coast

• Waves lose energy in sheltered bays 
• Where water is protected by spits or bars it 

becomes calm and sediment is deposited.
• Constructive waves build beaches by depositing 

sand high up the beach

Name two processes involved in the 
formation of an arch

Abrasion and undercutting

There are 4 sources of coastal 
sediment – Name 2

Rivers/ Cliff erosion/ constructive waves/ longshore 
drift

Why are interlocking spurs found in the 
upper course?

The river is forced to wind its way between 
interlocking spurs of more resistant rock because it 

doesn’t have the power to go through them.

Name the landform created as a 
waterfall retreats upstream

Gorge

Which part of the meander bend will
have the strongest current?

Outside

What feature is found on the inside of a 
meander?

Slip off slope

What is the name of the sediment 
deposited onto a floodplain during a 

river flood?
Alluvium

Total out of 23:
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BQ5. What are the physical and human causes 
of flooding?

•

•

•

•

•
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BQ6. How can we use storm hydrographs to 
understand the risks posed by flooding?

•

•

•

•

•

•

•

•

•

•

•
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Rivers Homework 3: Answer the following
Name two push factors for migration to 

Sao Paulo

Name two places that international 
migrants to SP have come from

When was the Chingapura project 
established?

Explain how lowland areas such as the 
North & South Downs have been formed 

(2)

Explain the process of slumping (2)

Explain the formation of caves (2)

Define the term ‘discharge’

Name the source of the River Creedy

Name three physical causes of flooding

Explain one human cause of flooding

Name the period of a storm hydrograph 
showing river discharge increasing

Name the period of time between peak 
rainfall and peak discharge

Describe two factors leading to a flashy
hydrography

Draw the shape of a steady hydrograph

Total out of 22:
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Rivers Homework 3: Check your answers
Name two push factors for migration 

to Sao Paulo

31% of rural households have no land. /Farms 
become more mechanised so unemployment rates 

are high./Regions suffer from drought = chronic 
malnutrition.

Name two places that international 
migrants to SP have come from

Italy/ Portugal and Africa

When was the Chingapura project 
established?

1995- 2001

Explain how lowland areas such as the 
North & South Downs have been 

formed

75 million years ago, Britain covered in warm, 
tropical seas./ Marine deposits created chalk in the 

North and South Downs./ 30 million years ago, 
compacted layers of sediment were forced upwards 

= dome.

Explain the process of slumping

Often occurs after long periods of rainfall.  The rain 
seeps through permeable rocks, when this meets an 

impermeable rock, the saturated soil and weaker 
rock slumps in a rotational manner along a curved 

surface. 

Explain the formation of caves

A line of weakness, fault or crack in the rock makes 
the cliff vulnerable to hydraulic action. The hydraulic 

action forces the crack apart to eventually form a 
cave.

Define the term ‘discharge’
Amount of water passing a specific point at a given 

time, measured in cubic metres per second.

Name the source of the River Creedy Hills to the North of Crediton

Name three physical causes of 
flooding

Intense rainfall/ duration of rainfall/ snowmelt/ 
geology/ relief

Explain one human cause of flooding

Urbanisation – rainwater can’t infiltrate impermeable 
surfaces/drains allow water to enter the river more 

quickly.
Deforestation – interception is reduced  so runoff 

increases

Name the period of a storm 
hydrograph showing river discharge 

increasing
Rising limb

Name the period of time between 
peak rainfall and peak discharge

Lag time

Describe two factors leading to a 
flashy hydrography

Steep slopes so rapid run-off/ Impermeable rocks 
encouraging rapid overland flow/ Heavy or 
prolonged rainfall/ Saturated or frozen soils/ 

Deforestation encourages rapid transfer of water to 
rivers/ Urbanisation encouraging rapid overland flow

Draw the shape of a steady 
hydrograph

Total out of 22:
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BQ7. River Management: Hard

o



o



o



o




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BQ8. Named Example: Lower Wye Valley





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Sample Assessment Material
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Revision Support

Login using the joining instructions below and select Topic 1.3: River 

landscapes and processes.

Successful completion of each sub unit i.e. 5.1.1 Ways of defining 
Development will be awarded 2 house points.

Wider reading


